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Modiile-1
a. Define Standard.
b. Describe with neat sketch .

i) Imperial standard
ii) Wavelength standard.

c. Distinguishbetween:
i) Line and End standard
ii) Primary standard and secondary standard.

Module-2
3 a. Define fbllowing :

i) Limit ii) Fits iii) Tolerance iv) Fundamental deviation.

OR
2 a. Discuss the proeedure the calibration of End bar.

b. Explain Wringing phenomenon, using a slip gauge set M112, buildup the

dimensions i) 78.3665 ii) 49.3115.

Measurements and Metrology
Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, choosing. ONE full question from each module.

b. Explain, what is meant by
i) Interchange able part ii) Universal interchange ability iii) Local interchange"?il,ril".ur,

OR
Derive GO and NOGO gauges. How the Taylor's principle is used in designing thcm.

(0tt Marks)
Determine the type of the fit afterdeciding the fundamental deviations and tolcranccs in thc
following:
I;it 0 70 Heez Diameter step (50 - 80)
fundamental deviation fori shaft = -1ID0al

lT7 = l6i IT9 : 40i, i = 0.45'Jo *O.OOt n

Module-3
Define comparator, write difference bet*.." *mparator and measuring instrumcnt.

(08 Marks)
Explain with neat sketch the construction and working of mechanical of optical comparator.

(12 Marks)

OR
Define Angle? Explain with neat sketch bevel protractor.
Give the combination of angle gauges to obtain the fbllowing
arrangement of gauges.

i) 57'34',9', li) 102'8',42" 
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a.lIxplainwithneatsketches:ry-,.".,.,1,.
i) Ilysteresis ii) Threshold iii) Sensitivity ffiCdllibration.

b. Describe the three-stagos of measurement with argritme example.'

a.

b.

c.
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With the help of neat skptgfu,effilain the working priAqjple of prony brake dynamometer.
/1Il t\,f o

b. Discuss briefly witrr sl&et 
-Llastic 

pressure

t0
OR

a. Write a shoft'fiidte on the eleetrieal resistaitsb'thermometer.
b. Explain # at sketch bonded tylrc resistance strain gauge.

c. Write a shgrt note on thermocoupk#;
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